AT HERNRE

% H T & ol & i %
A I F %
( # B )
o i fi T
I o - 163, 340, 000
B # T F # 28, 503, 734
Mo T F 22, 287, 629
&R OB & 6, 895, 029
— % E B E 52, 626, 303
T F i 273, 409, 000| (Bt L)
H % il
A & (il 27, 340, 900 10%
A I F O#H
B 300, 749, 900
— 1 —
X L & KN R K
(2 )-C 1
% H T fE F O] A il WAL | Hk e Bl il i E3
AT HA
H i T
SR N P B i 2 3, 600, 000 7,200, 000 K RIFH A 3,600, 0004/
AT v TRAT— k iG] 2 1, 950, 000 3,900, 000 | 4533 4 1,950, 00014 /4
ATy T AT | 6 3, 240, 000 19, 440, 000 | #5317 3,240, 00011 /9
BT RA E b 2 31, 000, 000 62, 000, 000 FFBIFH 31, 000, 00014 /%
Fo~ MR | ey 2 35, 400, 000 70, 800, 000 | 4 BIIFH A 35, 400, 0001 /1
i 163, 340, 000 o ¢
[ERm= ¢




i oAl F B i3 i # i =
[hESee K 312,451 o1 FHIRE
Fi 312,451 (k)
S EV 66, 346 % 2 HHRE
/NELAE SR IR K 8,830, 679 % 3 FHIRE
AN E 8,897, 025 ((Ex72ZREE )
BB R 2 EV 355, 881
AN E 355, 881 (B BHER)
7 9, 252, 906 (B kL]
e B3 K 7,220, 700 o4 BARE
AN 7,220, 700 (75 8)
ek fint gt K 1,986, 300 % 5 HHRE
(2 H)-(C 38)
fill iRl Mmoo Bl AL e B il i E3
ANE 1, 986, 300 (B fi B (< 55 5 3%)
i 9,207, 000 [ #s3e]
HwaET M 6,451,766 6 SPERE
A EE 6,451, 766 e THE]
Pkttt K 184, 140
AR 184, 140 [E e 7]
e () K 3,095, 471.
fist (B E) # %7 BNRE
AN R 3,095,471 HISaHEE (]
i 28, BT R

[QECHE 54

503, 734




# H il Ll Bl HAL i B H kil =
LB () K 7,938, 289
e (B{L) EV 5,499 %8 HERE
AN 7,943,788, H2HERE @]
B P K 12, 556, 171
AN E 12,556,171 H3Fat5i#  [BUGEEE]
iRt EV 1,787,670
AN E 1,787,670 H4SEtFE  [RARIHETE]
7 22, 287, 629 Wi T
Pt T 50, 791, 363
BEiEsalE
AT K 1 6,895, 029
(2 )-(
fid H fill Ll moBl AL e Bl il i E3
7 6,895,029 65 EHTLE LT
it (eIl 221, 026, 392
— R
— R K 1 52, 626, 303
i 52,626,303 SETEHEGIE RIS
Tl 273, 652, 695
FEAEWE O
FEAEMIE ORI
(~ A F A fH) K 1 243, 695 ® 9 BEHRE
i 243, 695
&k
(GED| Tl 273, 409, 000
[EE R M 1 27, 340, 900




% B T M mooal oAl AL | %% it Bl & #H
AT E 300, 749, 900
Nol W% = =5
N iR =
#* A T & [ -1 i # i A Bl & %?E
[ pes g 1 KL 312, 451 312, 451

B 312, 451




N2 B =
=
T [l HmoBl i B i & # kil
g PR <) SS JIS5k 600A 2 33,173 66,346 | JLA33, 17311 /41
B 66, 346
(3 ) -
No3 R = E=N
H =
T & ool U1 dit L Bl # k] [
mifefi
/B SGPW 324 5.06 m 1,725 8,729 | ANl ]1P658
m
SGPW 80A 9.6/ m 4,625 44,400 | HEZ NI P658
mif B N T O
SGPW 1504 31 m 13,018 403, 558 | A1 A P658
mifG UL RO
SGPW 200 744/ m 19,818 1,474, 459 |HEAfli11 ] P658
mifE UL RO
SGPW 2507 0.8 m 27,818 22,254 | HEEX AL P658
IR 1K 3,320, 780 X 1.7
mifE UL RO
SUS304TP Sch20S 324 5.7 m 2,821 44,290 |HERMLI11 A PET8
mifE UL RO
SUS304TP Sch20S 50A 62.8) m 4,473 280,904 |FEFfli11 A P6T8
mif B N T O
SUS304TP Sch20S 80A 58.1 m 7,632 443,419 | BEAli11 A P678
@A [ 960, 766 X 1.25




I [l L] i HOAL Bl 4 i E] g
fLu)Fp 327
il CAC JTIS10KS 2| 9, 360 18,720 |AtF&Mfilil1 A P699
[aR=IES 324
SCS JIS10KS 2/ fE 14, 400 28,800 |\ EEZMli11P702
[aR=IE:S 50A
SCS JIS10KS 2| 25, 500 51,000 |AEEII11APT02
NET 5 A5 2007
FC/SUS Fuz 2 37,400 74,800 | BT A P706
M AL 20A
G AR JTS10KF 76| A 12, 950 984,200 |5LAf12, 9501 /{iE
Ttk T 1504
SUS JIS5KF 2| 110, 000 220,000 |11 P746
Ttk T 200A
SUS JIS5KF 2 166, 000 332,000 |G PT46
LS 2007
SUS JIS5KF 2/ fE 41, 000 82,000 \EEZli11PT748
L5 50A
=2 JIS10KF 2 7,400 14,800 |AtEAfili11 A P747
LS 80A
=2 JIS10KF 2 10, 400 20,800 |EEZMli11APT4T
at 8,830, 679
(3 ) -
T oo wmeooal B L] Bl & #H fi %




Nod BB = =
=) =
T fl [l HmoBl s L AA i # i 5
<HHTH>
Bl T 199 A 21, 500 4,278,500 BLEA 21,5001/ A
B T 16 A 25, 000 400,000 |WLHAl 25,0001/ A
Eil(ET=] 11 A 16, 800 184,800 |WRHLM 16,8001/ A
BT 5 A 21, 500 107,500 |WRHLAE 21, 50019/ A
<JETHF>
Bl T 91 A 21, 500 1,956,500 WEEAE 21,5001/ A
Bl 8 A 25, 000 200,000 |WEHifi 25,000/ A
TR E 3 A 16, 800 50,400 |VLHELH 16, 8001/ A
BT 2 A 21, 500 43,000 |WLHEUE 21,5000/ A
3 7,220, 700
(5 )-(
Nob  HEBLERIRIEA BT = =5
=) =
T & ooml wmooBl s L L] kil 1 =
<HEHLE>
RN 1 T 69 A 28, 300 1,952,700 |[EHAH 28,300/ A
s dliey 1A

33, 600

33,600 |WREf 33,6000/ A

G

1, 986, 300




No6 BwaeT = =+
=) =
T fl [l mooal s L AA Wffi # il 5
<HHLF> BOEE : AR A L1 PLO5 S HR
EL A VFEHIT. 1:2 0.7/ m3 23, 280 16,296 | FH : = 2 MEHKPLUL R,
EZ AL BT
=20 1:3 5.77 m2 2, 870 16,560 FESLHE THUGEKP327 R
A AR
RURET. 5.4 m2 4,250 22,950 |EEELHE THMKP23 L
100~150 > F7 L—H
o0 T k7S 0.09| m3 21, 400 1,926 REHE R MMEHBPA20 KB
Ze5
WET 300ALL | 7.4 m2 31550 233,470 | RLA31, 550 /nf
SHELIN T 5 SS400+1334 3190 kg 1,753 5,592,070 |FLALL, 7531 /kg
SRBLIN T 5 SUS304 124| kg 4,400 545,600 |4FHIFRA 4, 4001 /kg
<R LT > FEEL AR 1079 P105 51
FIL VST 1:2 0.04/ m3 23, 280 931 M - BE = X MEBIKPLULL
(6 )-( 2
T [ -1 oAl 74 HOfL i kil i £
<fETHE> EILZ AL BT
=20 1:3 0.59| m2 2,870 1,693 REFLHE THUETP327 LK
et A AR
TR T 0.59| m2 4,250 2,508 AL THUIFKP23 51
100~150 > F7 L—h
IZoh T (73011 0.16] m3 21, 400 3,424 gL A MEHIP420 KK
100~150 > F7 L—h
o0 T g 0.67| m3 21, 400 14,338 |RREE= A MFHAKP420 KPR

G

6,451, 766




N7  fEr (Ril) lj:]

%
T

# A ER Bl Fi 1 Es s B Al kS il ki ] =
PRk 7 455
[Tisd A 5 A 1200mm 30.3| fHm2 1,630 49,389 | EEGL T HUEFKP117 A
WA 17K 1 K 3, 454, 000 3,454,000 | JLA3, 454, 0001/
it 3,503, 389
(8 )-(
No8 Wi (BiE) W =] i
iR =
# A ER & FiL 1 E = L H Al E # ki) o
HFRE2. 50
HEfifi PESEBETEMILTRL | 77 7 4053 (827 -b) 0.25 m3 6,250 1,563 | BLEHl2, 5001/t
HRE2. 35
75y (SEfih77) =) 0.67 m3 5,875 3,936 |BLHIiA 2, 500/t
s 5,499




( ) - (
NoO  FEAMIEO A Ij;J = ==
B =
% T [ -l FiL 1 P e LA Bl KA #H i} B
AT T -
(73 ~E—H1 3.41 t 29, 500 100, 595 | YL Bl
AT U LAL T 1060 kg 135 143, 100 |AE&filli11 HP794

i

243, 695

B
@
‘E\|\£
s
B

(G

(RAR 2 = (AR Bt B X (R o+ (B L) )
SRR A R A — 1 T (0 S 0 OV A SRS A 1) + S L e

188,748,263 [ [t 448]
g
- &l
(R — Y — 33,44 015 1.64 %
EER | BRAR TIR&F | IRGES [ PR | T%{
1.64 [ 1.64 [ 1,000,000,000 T 1.26 [ 37 ] 1,000,000

3,095,471 H




ESilTE S

Feam % Feoor GukE = BB LR F + R R 1k St 2 28,503,734 ] [x4:%8]
M
|
SRR B =Y =2,858.52X 4% 27.85 %
[ R [ BHE EIREA | EIRE [ TBEE [ FIREE
[ 2785 | 27.85 | 500,000,000 | 12.86 [ 68.76 | 1,0%{00,000
R = 7,938,289 M
3 REE B e
A5 PR o G = ol e (e D gL (R ) 36,447,522 E [t 44
_ |
BUR G FLEY 3R =Y =426.49X 1P 34.45 %
SR | DRilER FIREHE | IR [ FBRE [ FIR&H
3445 | 3445 | 500,000,000 | 23.59 [ 57.93 | 1,000,000
BUGE I = 12,556,171 m




B

ao

AtEE PAT (Befli ) e

Tt A = ) IR et G X A R e e
RS I A o B = LB TR A P OB 5 B 3

TEATHIEE &R =90%

AT (Bl ) ez = 1,787,670

1,986,300

90

&

REEE

[ 5]

s () I

bt (Bas) Mz o< ot gﬁi%%@)ﬁl;&ﬁﬁ%%ﬁ XA () [ 2 g
=t

Tt (i) [R1H2 2 0P8
2‘92X*0,1‘3‘3

%

s () MR R =Y
MREA [ PR ]

FIRE

FIR &8

F;Eﬁ% e
\ 1,000,000,000 | T.51 \

0.82

[ 10,000,000

0.82 I
AT (B it = 0




AR (%) -

o FHEE A
AR AR By = BRGH T R G X BRI R
AR A RN B o G = B ER A + PR LR 214,131,363 i ()
&
- &
BEHT R R =Y =183.41X """ 3.22 %
[ g PR EIR&H ERRE TBEE TR
[ 3.22 3.22 T_1,000,000,000 2.33 7.11 5,000,000
S = 6,895,029 M
BTE FHEE WEE A
A B S = — A P S S SRR X A B S
A B S e B = TSl
A B A = (R B A ) X (RTEA S BT A A IE AR 50)
X (AR EA R E)
— R R S R = LRl 221,026,392 E [ 5e%]
]
— i B SR =Y =-1.4357LogX + 35.789 23.81 %
R | PRk | LIRS FREE FERE FIR &%
23.81 23.81 300,000,000 22.18 26.17 5,000,000
R = 52,626,383 M
TR R (0O 4= 80 =]
52,626,303 =]




E0-0023

S1000009 75@ :I: %‘ /fﬂﬁ %E B0 -00156  #
— R T

FA A, BUEI LB 52
% B - 8K Ap X %% | g i fif & i i
KRR FEIA S (SHh) KROOE006
13. 840 t 750 10, 380
IRAXAT B L& (535) KROOE009
13. 840 t 750 10, 380
kokok HALMZY koK ok 1 — 20, 760
A=5 FEIA T, BUE L2359 5 2 D=13. 84 R # (t)
K=2 SEHUFEGA 2, BRI HUE] L
06—stotskotolsk—00001-10 5 OHe K
) ) vy B4 ,f E0-0024
(RS (BRSRAR, HEM, 7 TR, TCBRARSE) S $1000007 T == A T W0 ~0016 %
TR AE 754km BAL R 12mPlN 1 3L R
% - Bk e X % B WY H fiff & i} fii Z
JEAES $1000009 WH0-0017 #
SEHREAEE 754kn 1..000 -3 291, 691 291, 691
R 12mPAN P 13. 84t
AR, BUH L2595 2 $1000009 HLH50-0015 %
1. 000 -3 20, 760 20, 760
kokok AT Y kokok 1 - 312, 451
A=T54 TEHREEHE (km) B=1 12mELN
c=1 - D=1 -
E=13. 84 SR (1) F=1 -
H=1 - 7=1 -
=2 JEHUFEIA 2, BRI HUH] L
5 OH W

06—*+%%%%-00001-10




N4 - o
$ i% E0-0025
FEAGHE & $1000009 75@ :I: /fﬂﬁ W0 -0017  #
TEMEMAE 754km R 1omPAPN SEHRET AL 13. 84t A =)
% B Mok e L %% | g i fif & i i =
/N i=Y JU0o1
1. 000 —=x 8, 560 8, 560
2 1 FR200kmit#E X EIHY Juoo1
28. 000 —=x 447 12,516
Y4 FRGHE S E0001
13. 840 t 21,076 291, 691
kok ok HAZMZ D skoskok 1 — 291, 691
A=1 JEARTE S B=754 S EAE (km)
c=1 12m2L D=13. 84 TR ()
06—stotskotolsk—00001-10 5OEC B



